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2.1 Test case specification identifier

[EIAE Q&) T1 Team

ot

A
=

o]

Zf(data)S

Ver. 1.0

st 20|

S0 7oyt



[

El
=1

AE

ol
=]

Ver. 1.0

Input specification
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PTS.STC.000.000
PTS.STC.000.001
PTS.STC.000.002
PTS.STC.001.000
PTS.STC.001.001
PTS.STC.001.002
PTS.STC.001.003
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PTS.STC.005.000
PTS.STC.005.001
PTS.STC.006.000

PTS.STC.006.001

PTS.STC.006.003
PTS.STC.006.004
PTS.STC.006.005
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Z20W 4 = 180=F 7|CHE.
Z=2 03 4 = 180=& 7|CHE
=203 AW = 18 7|CHE
180=& 7|CHE

7t= Ef (Bus IN) = 180xE& 7|CIHE
7t= Efd(Metro IN)E 180X & 7|CHE

BusOllAl Metro2 &
180=E& 7|CHE
BusOllAl Metro2 &
= 180X=E 7|CtE
MetroOllA| Bus2 &=
180=E& 7|CtE
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Metro IN Ef1 = O] E&F OUT 152 O|LH Bus IN
Ef

Bus IN Ef1 = O] E4F OUT 152 O|L} Metro IN
Ef1

Bus OUT Ef1 = 152
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Metro IN EH1
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Metro OUT EfT1 = 152 = Bus IN EH1

Bus OUT Ef1 = 15% O|LH Metro IN EH1 Metro
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Metro OUT Ef 1 = 152 O|L{ BUS IN Ej1 BUS
OUT Ef1 = 152 O|L{ Metro IN

Bus OUT Ef1 = 15% O|L} Metro IN EH1 Metro
OUT Ef = 152 = BUS IN

Metro OUT Ef1 = 152 O|L{ BUS IN Ei1 BUS
OUT Ef = 152 & Metro IN
MetroOl| Al BusZ &5 = 30=% O|=
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MetroOllA| Bus2 &5 = 60= O|= 3|kt

MetroOll Al Bus2 & = 30 O|T SHXt

MetroOllA| Bus2 &5 & 35z O|= SHXt
Z20Y 4 T Bus ©S

Z20H 4 = Metro B S
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PTS.STC.007.000

PTS.STC.007.001
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2.3 Input specifications
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<Test case specification identifier H|0|& &=x>
2.4 Output specifications
<Test case specification identifier H|O|& & x>
3 Environmental needs
Testing Environmental :
- Windows 8.1k 64bit.(Cmd)
- Cygwin 64 terminal
4 System test summary report
4.1  Test summary report identifier
Input specification Output specification =
PTS.STC.000.000 =212 Ml = 180X E 7|CHE. 7te o, 27| SN AN 7| S0  Pass
MO|lE ER7L SHLE 22tdE &0
PTS.STC.000.001 Z21% M3 = 180x& 7|CtE DisplayOll M ER7t 22t &9l Pass
PTS.STC.000.002 Z2 1 MM 5 1XE 7|CtE 8=20| 22t & ol Pass
PTS.STC.001.000 180XE 7|CtE Fito] H¥E[=T1HE ol Pass
PTS.STC.001.001 7tE Ef1 (Bus IN) & 180X E 7|CHE 4tz ot Pass
Bus = 1050, Metro = 0
PTS.STC.001.002 7= Ejd(Metro IN)E 180X E 7|CHE! LA} Pass
Metro = 1050, Bus =0
PTS.STC.001.003 BusOAM Metro2 25 13|(F7t2= 210| stxh=  FAZEDt Pass
180 E 7|CHE Bus = 1050, Metro = 0
PTS.STC.001.004 BusO|A MetroZ &5 13|(Metro F7t23 30089) d&tZqt Fail
% 180X E 7|CtE Bus = 1104 Metro = 245
PTS.STC.001.005 MetroO®|M BusZ 25 13|(F7t2= 210| stxh=  FAZEDt Pass
180X E 7|C}E Metro = 1050, Bus = 0
PTS.STC.001.006 MetroO|A BusZ & 13|(Metro F7t22 2008) FLAHZAD} Pass
= 180X E 7|CHE Metro = 1250, Bus = 0
PTS.STC.001.007 MetroO|A BusZ &5 13|(Bus =7t2=2 1008)E  FLtZat Fail

180%E 7|CHE
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PTS.STC.002.000
PTS.STC.002.001

PTS.STC.002.002
PTS.STC.002.003
PTS.STC.002.004
PTS.STC.002.005
PTS.STC.002.006
PTS.STC.002.007
PTS.STC.002.008
PTS.STC.002.009
PTS.STC.003.000
PTS.STC.003.001

PTS.STC.003.002
PTS.STC.003.003
PTS.STC.004.000
PTS.STC.004.001

PTS.STC.004.002
PTS.STC.004.003
PTS.STC.004.004
PTS.STC.005.000
PTS.STC.005.001

PTS.STC.006.000

PTS.STC.006.001

PTS.STC.006.003

PTS.STC.006.004

PTS.STC.006.005

PTS.STC.007.000
PTS.STC.007.001
PTS.STC.007.002
PTS.STC.007.003
PTS.STC.008.000
PTS.STC.008.001
PTS.STC.008.002
PTS.STC.008.003
PTS.STC.009.000

I.I—" o~ =

== =

Bus OUT Ef 1 = 152 O|Lf Metro IN Ej1
Metro OUT Ef1 & 152 O|LH Bus IN EfL

Metro IN Ef1 = O] F4F OUT 152 O|LH Bus IN
Ef

Bus IN Ef = O] E&F OUT 152 O|Li Metro IN
Ef

Bus OUT Ej1 = 15X = Metro IN Ej 1
Metro OUT Ef1 = 152 = Bus IN Ef

Bus OUT Ef1 = 15% O|LH Metro IN EH1 Metro
OUT Ef1 = 152 O|LH BUS IN

Metro OUT Ef1 = 152 O|Lj BUS IN Ef1 BUS
OUT Ei1 = 152 O|LH Metro IN

Bus OUT Ef1 = 152 O|L{ Metro IN Ef1 Metro
OUT EH1 = 15X = BUS IN

Metro OUT Ef1 = 152 O|L§ BUS IN Ef1 BUS
OUT EiZ1 = 15% = Metro IN

MetroOll Al Bus2 &S = 30X O|= St}

MetroOll A BusZ &5 = 60= O|= 3}At

=

MetroOll Al BusZ & = 30 O|T S}Xt

MetroOll A BusZ &5 = 35 O|= 3lXt

2% AW = Bus ©S

Z2 0% A S Metro B

BusOllM 3lAL = 152 O|= Metro ES
MetroOfl A AL = 152 O|= Bus EfS
MetroOll A O] 4 Out & CHA| Metro IN

DEJIE £X7|E oo Y= e HEEH=
Ef
MEJIE £XN7|E 0o Y= e HF o=

WS7tE £X7| 5 nteof olez x7|3t = EjO

, 00 it egEA
125005t )£ CF = 5}

XEI7|2H2 1050222 =7|3} Metro IN Ef1 = 2
HAHE X 2ol ouT EHO

XI|S2HL2 1650/ 22 =73} BUS IN EH = 30
= O|™ OUT El1 Metro2 E& IN OUT & Metro
IN

XI|ZHE 1750/ 22 *=7|3} Metro IN Ef = 1
HAHE Xt 2ol ouT Ef1 BusZ &5 IN OUT
= Bus IN

7| 2H2 1050¥22 =7|3 BUS IN Ef1 = 30
= O|™ OUT El1 Metro2 & IN

EI|2HE 1250422 *x7|3} Metro IN Ef1 = 2
HAHE Xt 2ol ouT Ef BusZ B IN

7| SHE2 1650222 =731 BUS IN EH = 30
X O|F oOuUT El1 Metro2 5 IN

X7|2HS 17502922 E7|3} Metro IN Ef = 1
HAHE Xt 2o ouT Ef BusZ &5 IN

32 (32)0| X|t F| Bus OUT

SIEBE)0| Xk F| Metro OUT

SHE(32)0| K|t F| Bus IN

SHEBE)0| X[ F| Metro IN

SIE3EE)2 7|CHE

11 1eam

[{0

Metro EfS5823 0
Bus EfS2= 0¥
o g4 23/2|@sas X
o g4 2a3X/2|@sas X
Metro 7| 223

Bus 7| 222

orx|gt Bus E&232 0¥l

OkX| 8} Metro B
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fo
op
o
o

Orx|at Bus 522 10508
Ese=3 X

OkX| 2t Metro Ef5 22 10508
E&Esea X

Bus OUT 2= 100
Bus OUT 22 200<!
Bus OUT 22 0¥

Bus OUT 2= 100
Bus 2= 1050

Metro 22 10502
Metro 22 1050

Bus 23 1050

X|5Hd 0] Hiteg XE

cleea X
HEIY NS A =l

HZIY MeE S ol
22 25 oiAlX|
22 2= OjAlX|,
TUol| 7| S EIALE el
22 2= OjAlX|,
mol 7| = E|ALt =l

232 2= oAlX,
orlol 7| S EIALt el
28 2= oAlx,
orlol 7| ==Lt el

23 2= 0AX,
ool 7= ALt 2ol
23 == 0AIX,
ool 7= ALt el
23 == ojAx,
ool 7= ALt el
o Bs g

o ws g

O] HatXz2| ol22 ouT €70
AlX|
O] EAN2| o2 2 ouT E7ts o
AlX|
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Pass
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PTS.STC.010.000 H{A THZ7| IN OUT 32| gt= EfO CH7| ot =+l(6E) COUNT=6
OR 5
PTS.STC.010.001 X|3FE THZ7| IN OUT 33| Et= Ej (A ->ZE,  EH27| ot =tol
2k S BHN, BHE- AL)
PTS.STC.011.000 HA &, otA}L 13| X|StE 5, SHAL 13| &5 13| Ef Ft= mreo A %xh B A B
a x|t S*t, X|SHE ofAL,
HA SX}, BA Sk} 7| & =l
PTS.STC.011.001 H{A & 3}Xt 13| Ef FHE DO A K} A SFAF 7|
£ gol
PTS.STC.011.002 X|st&E &, StAt 13 EjO Fte OFOf| X|BHE Sk} X|SHE &
A 715 =l
PTS.STC.011.003 HfA &FX+ Ef 1 7hE Dt HA SHR} 7| S =l
PTS.STC.011.004 X|SH&E S}AF Ef JtE Do X|BHE SHAF 7|2 Eol
PTS.STC.012.000 H{A Z, 3k} 13 & 32 7|CtE. AL}
Bus = 1050, Metro = 0
PTS.STC.012.001 X|5}HE &, 3lAl 13 = 322 7|CHE. HALZA D}
Bus = 0, Metro = 1050
PTS.STC.013.000 A L SHAF 13 & 328 7|CchEl HArADE 3ol ™HAZADE SXE| X 2eg stol
Z, X|StEM HAZ B8 F 30 0|F At 32 FAMZAD}
2 7|CtH Metro = 1058 Bus = 92
PTS.STC.013.001 X|3}H =, 8}Xl 13| & 322 7|CHE FAZAD st FHAZADIF =X E|X| %28 29
ol =, H1*01IA1 AetE2 oS T 18AE X g Fuzn
OiIH 34Kt 328 7|CHe Bus = 1104 Metro = 245
PTS.STC.013.002 X|&tE &, &}k 13| & 322 7|CHE. O/ Ef1 & HA ZIJL £XE X %22 &¢l
X| %3 388 7|CHE A
Bus = 0, Metro = 0
42  Evaluation
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PTS.STC.001.004 / PTS.STC.001.007 : SH}E

PTS.STC.002.003 : O] ™At @FXE|

g 2

azp ol o 2

20|} BHEH 2|

PTS.STC.007.001 : 8& %F HA[X|7} ot 25 HZ

PTS.STC.007.002 : 22 £F HA|X|7t 2HE.

PTS.STC.008.000 / PTS.STC.008.001 : &7t& MA|X|7} Ot Z2 0 F=&
PTS.STC.008.003 : O] F4t FUO| BtE|X| B2

PTS.STC.013.000 / PTS.STC.013.001 : 2HIE 4 A7t ot of

HA F7t2F AlZE ALtAo =50 StEIF X|LHH FH=sh A 40| &[]
] T1 Team
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